e

1 Chaque jour compte

O — =

o
\\\\\“\\‘

§
)
Ni
* 3
S
$
Toren*
p
\Q\

%

80

90

o

Egun bakoitza konta da




e

1 Chaque jour compte

O — =

§
s
* &
3
%m &
o
M
S
™

%

80

90 Q

Egun bakoitza konta da




1 Chaque jour compte

@

_wsimab_t

(

%

80

Egun bakoitza konta da




1 Chaque jour compte

@

§

N
* &
%m Q\‘\
W~
N
G
PR
R

%

80

90

Egun bakoitza konta da




e

1 Chaque jour compte

O — =

§
s
* &
3
wen” o
o
)
N
™

%

80

90 Q

Egun bakoitza konta da




e

1 Chaque jour compte

O — =

%

80

90

o

Egun bakoitza konta da




1 Chaque jour compte

O — =

%

80

90

$
Pair
S
\\&\
K “‘\\\\\\

Egun bakoitza konta da




e

1 Chaque jour compte

q — 19 —QJUJ:L

o
\\\\\“\\‘

§
)
Ni
* 3
S
$
Toven*
p
\Q\

(

%

o

80

90

Egun bakoitza konta da

(

80

90




1 Chaque jour compte

@

§

N
* &
%m Q\‘\
W~
o
\‘\\‘
PR
R

%

80

90

Egun bakoitza konta da




1 Chaque jour compte

O —

- dicc

§

S
* &5
Q
%m &
>
S
o
PR
0

(

%

80

90

ad

.90 L

§
S
a®

ad




	Diapo 1
	Diapo 1
	Diapo 1
	Diapo 1
	Diapo 1
	Diapo 1
	Diapo 1
	Diapo 1
	Diapo 1
	Diapo 1

